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GENERAL APTITUDE AND ETHICS

Part-1/917-1

Marks — 30 / 3% - 30
AT UM FA 15 5 E | W e S E | 5 e % o 02 3% e E

Note : There are 15 questions in this part. All questions are compulsory. Each
question carries 02 marks.

FEATEd T9=T § o U5 (?) S0 [S9% =mr ;20 3=
BUCKET : ACTVBDILDESU :: BONUS : ?
Find the missing term in the following analogy : [Answer Limit : 20 words]

BUCKET : ACTVBDILDFSU :: BONUS : ?

AfTEs o1 § S0 %6 %19 §1 U 99 R0 & a97 S T7 UF H9 T9E & 2

HAT] :  STTHEN F I H Ug JAE E |

FF Il :  TFESEE T SR, ST % HEe TeTR O aEaee MaiEreEr S E |
[T | : 20 9=

In the following statements, identify which one is the cause and which one is the effect ?

Statement I : Uttarkashi is very prone to earthquakes.

Statement II : According to seismologists, there is a lot of tectonic activities
going on the down belt of Uttarkashi.

[Answer Limit : 20 words]

20 WEOT . 30 | HOT 6 T fg=EeT T aeEE AT 4 (FF) £ S 9SO 5
FHATT {1 3 B | [==% | : 20 v=]

The algebraic sum of the deviations of 20 observations, measured from 30, is 4
(four). Find the arithmetic mean of these observations.  [Answer Limit : 20 words]

1 1 | 1 S &
{3+\ﬁ+\5+\/§+\/§+\j§+\/§+Jﬁﬂﬁ?ﬂﬁWI [ZoT |9 20 7=

: A 1 | 1 1 ]
Flndthe\alueof[:;‘ﬂﬁ+_\ﬁ+\/g+ \/§+\/§+\E+l,

[Answer Limit : 20 words]

C U g% &1 & | C F1500%, 500 C &7 e % & 2 [S9% 9 : 20 9]
C is a positive number. What % of 500 C, is 500% of C ?
[Answer Limit : 20 words]

A % 56T B a0 H40% I E | A S I H B T a0 A WeRrd (%) FH E 2
[STT 9 : 20 =]

A’s salary is 40% more than B’s salary. By what percentage (%) B’s salary is less

than A’s salary ? [Answer Limit : 20 words]

T 05 SFeRT, 2000 1 FHaR &, a7 30 779, 2000 1 |1 5 = 2

[STT |7 ;20 v
If o5 January, 2000 i1s Monday., then what would be the day on 30™ March.
2000 ? [Answer Limit : 20 words]

=T T S § 3= =Y E 2 [STT 9T : 20 7=
Pointing towards a person, a woman said, “His wife is the only daughter of my
father.” What is the relation of that person with the woman ?

[Answer Limit : 20 words]
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md 3 L s ke 2 1 & b T . =
4qrs 1 GATcHsh JENAT bl T[0T HIS 12 & T41 S &40k 91 llﬁ?{ ol 9 "
T E ? [S=7 == : 20 =]
If geometric mean of two positive numbers is 12 and their harmonic mean is |1 ]ﬁ :

then what are the numbers ? [Answer Limit : 20 words]

TS 3= &1 FaTHe Eg9 & 37el a9 ? faa=m ar:i'l-\vu{ I
[S9% 94T : 20 v=5]
Ethics is a Normative Study of Conduct or Positive Study ? Discuss.
[Answer Limit : 20 words]

T % URRT I T HITT | [=TT 5@ 20 355
Elucidate the kinds of ‘values’. [Answer Limit : 20 words]
HITTIE & &7 H, SHAHAA FIZ T FT ATE & 2 [ST¢ 947 ;20 =]

What is the contribution of Emmanuel Kant in the field of Ethics ?
[Answer Limit : 20 words]

FEFERE @ 3T T4 GHS F 2 [ST7 9 : 20 v
What do you understand by work-culture ? [Answer Limit : 20 words]
TATHHAT | SAITTF T 703 B | & 7 [S7 & 20 o]

What are the important values required in public service ?
[Answer Limit : 20 words]

=T R A B 0 [==T =T ;20 =]
What is Conduct ? [Answer Limit : 20 words]

Part— 2/ ¥\TT-2
Marks — 50 / 3% — 50
AT THOE H B 10 7T F | | WY JAHAE F | UE T % O 05 3%
HYIRT & |
Note : There are 10 questions in this part. All questions are compulsory. Each
question carries 05 marks.

FIT ATYIET el TSra=eieT gesie ¥ Ty & 7 Qe faa=m Enl'lr:_rlﬂ' |
[E=T 9T : 50 9=
Why Ethics is related to rational human life only ? Discuss briefly.
[Answer Limit : 50 words]

Hiqe Vg 1 HHSET | [Z5% 941 : 50 7=
Describe moral attitude. [Answer Limit : 50 words]|

™~ = ™ i | IR L [ [a
HIHel Aed & 0l & &9 § “HIGAcA® s I Gl wiee | [T 9 50 9]
Discuss ‘Emotional Intelligence’ as a trait of human personality.
[Answer Limit : 50 words]

FINE IMEA ST T T 20T Ay | [S=% 9 : 50 v=]
Write a note on Corporate Governance. [Answer Limit : 50 words]
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TrfeEs ST 1 W& 7 g 99T ST (=97 "4 : 50 =]

2 2 1 3 4 !
P S o St

3y "6 x 'y 2

Solve the following equations taking them as linear : [Answer Limit : 50 words]
3.2 1 .3 % 1
¥ 78y BTy T 9

T & IR YR T 591 F 9%, ST o Io o G 1 S 39 He |
[STF 9 ; 50 7=
Find the ratio of the volumes of cone, hemisphere and cylinder which are made

with the same circular base and height ? [Answer Limit : 50 words]
TT=TARE 33T 3 HITEH TAT FETh IR TR - [S5 9 : 50 v
23, 33, T2485 30860 S0NSE."32, 53, 42, 52, 42, S1§42548 5. 17,46, 33

Find the difference of median and mode of the following data :
25, 33, 72, 65, 29,60, 30, 54, 32, 53, 42, 52, 42, 51, 42, 48, 45, 47, 46, 33

[Answer Limit : 50 words]
TS T % TRl i G 3G 15 99 G | ST 5 F oA F, S S g 12
TG 6 HE &, W FORT A T W T FET H G A 6 FIE gL T | F W H U H
Terer Terendr 4 2 [Z7% 94T : 50 =)
The average age of a class was 15 years. When 5 more boys, whose average age
was 12 years 6 months were admitted in the class, the average age of the whole
class was reduced by 6 months. How many students were there in the class
originally ? [Answer Limit : 50 words]

FtT 150 FAI F1 T Ted 120 HHS % (9567 o9 F TS A, a1 Hewd § o

ol [S9% 9T : 50 =]
[f the cost price of 150 shirts is equal to the selling price of 120 shirts, find the
profit in percentage. [Answer Limit : 50 words]

WTWABC?ﬂ?ﬂHWBH&TC?WW (1,-2) HAX (2. 3) & | FRT 9
AT +y—2=0Te| T 1 &5%a 8 T THE & | 9T A % [Heens 71 X |

[‘_TIT?':ITHT 50 vr=]

The coordinates of the vertices B and C of a triangle ABC are (1. -2) and (2, 3),
respectively. Third vertex A lies on the line 2x + y — 2 = 0. Area o‘r the triangle is 8
square units. Find the coordinates of the vertex A. [Answer Limit : 50 words]

Part-3/49r1-3
Marks — 40 / 37 — 40

AT WYMOFA0N] WA EAA 02 @S E | @Us — 1 F 04 U § ¥ fEE 03

U T @O — 2 % 03 WA ° § Tl 02 W91 W SO 591 ST A\erd '
T U % [T 08 37 e & |

Note : There are 07 questions in this part and their 02 sections. It is compulsory
to answer any three questions out of four selected from Section-1 and any

two questions out of three selected from Section -2. Each question carries
08 marks.
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Section-1/@vs-1
General Aptitude / AT ATWHT

s oo | TREr el % 400 Ta=ner & | 39 | 270 T, 300 3 q9r 50 foeed
WIS UEd 7 | F 99 ST VG Ued £, e W Ted & | 20 e § faemy 2 ugd 7 |
35 79 g foome = BT B |Wwﬁmmaﬂ1ma | ISR T ShifTT
WEI‘ITTFEIT WHWEWWWEﬂw TS TR TR | HAA o9 FE F
T HIT | [ST% I ;125 v
There are 400 students in a class of a school. Of these 270 study Maths, 300
French and 50 Business Studies. All those who study Maths, study French also. 20
study Maths and Business studies. 35 study French and Business studies. A student

is selected at random. Find the probability that the selected student studies French
but neither Maths nor Business Studies. Use Venn diagram only.

[Answer Limit : 125 words]

et FE FT A 3R B T 55991 79 14 T A [ a5 | A 9 B A1 o 71 5
% HId £ | &1 a1 % am C 59 %/ | el & S 8, o S U (57 § 0 8 S
& | 37%er C fohe TorT & 9 %19 =1 /T 4T 2 [T = ;125 vr=]

A and B alone can complete a piece of work in 7 and 14 days, respectively. A and
B work it together for 2 days and after 2 days, C joins them. Now, the work is
completed in one day. In how many days can C alone do that work ?

[Answer Limit : 125 words]
120 =Gs HTEReT =1 i 2% |/ 0% @ee §% 9 T 30,000 YR o6 £ | 91 ad A
3 15.200 5% FT 3T AT £ | B H [T AT F H 00, HT T O 905, 37 B
T ST & 2 [S7% 9 ;125 o=t
A man borrowed ¥ 30.000 at the rate of 12% per annum simple interest from a

bank. He paid X 15,200 after two years to the bank. How much he will have to pay,
after two more years, to clear the loan ? [Answer Limit : 125 words]

T SETES [HET G I SOEH Tod ¥ p% 3iT9% Tod T 99T & | A5 9F WES H
q% == SAT &, T 9T | o W e | [ST% 9 ;125 o=
A manufacturer sells an article at p% more than the cost of production. If he gives
a discount of % to the customer, find the profit in percentage.

[Answer Limit : 125 words]

Section-2 / Tv3-2

Ethics / 3= 9151

HATIITT T FITAT T =T FIT | [39% 9 : 125 o=
Discuss the formation of attitude. [Answer Limit : 125 words]
T TR i TOEII3T T THST % o0 37 AT & 2 S9RE] e |

[57% & ;125 o=
What 1s the contribution of the teachings of Swami Vivekanand for Society ?
Explain. [Answer Limit : 125 words]|
IMET H TETESEl % HeTS ¥ [geee wirew | [T 9T ;125 o=
Discuss the importance of *Accountability’” in governance.

[Answer Limit : 125 words]
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Part -4 /9T -4
Marks — 80 / 37 — 80
AT WEHMAEA O] U E A 02 @S E | @Us - 01 % 04 7§ ¥ = 03
YT TE @I — 02 % 03 U § | BT 02 USET 7 SR 59T S S E
T W % [o1Y 16 37 i & |
Note : There are 07 questions in this part and their 02 sections. It is compulsory
to answer any three questions out of four selected from Section-1 and any

two questions out of three selected from Section-2. Each question carries
16 marks.

Section-1/@v3-1
General Aptitude / T ATWH

U TOd TS 1 TS SveE & ¥§, [Hyed A1E® a0qq a91 956 77 He o
FHHTT W Y F F |99 2011 H, TEH =W HE F G 5, 5697 < 26,272 FAA
9T Y FoT s X 5,284 W fRET | 9T % 9 g0 HEAl § 399 < 43,008 A
9T TG FT TRAFS T 9,376 A B | {5k TS BT YT JIEeh S a7 HHIT
1 T 3T HINT | [Z7¢ 9 ;250 v ]
A selling agent’s remuneration consists partly of a fixed monthly salary and partly
of a fixed percentage on all sales effected by him. During the first four months of
the year 2011, he sold goods for ¥ 26,272 and received a total remuneration of
T 5.284. During the rest of the year, he sold goods for ¥ 43,008 and received the
total remuneration of ¥ 9,376. Find his monthly salary and the percentage rate of
commission. [Answer Limit : 250 words]|

T AR G i oEE 60 HieT a9r =eE 40 Hiel § | THE o= g 9EE %
THY 4 HIZT =g T 90T % 5 9@ 18T o & | T 70 Wid a7 HieT 1 57 | SHE T
T T TF T BT | [E7% 9 : 250 =]
A rectangular garden is 60 metre long and 40 metre wide. Two cross paths, each 4
metre wide. are to be constructed parallel to the sides of the garden. These paths
pass through the centre of the garden. Find the cost of construction of the two

paths at the rate of ¥ 70 per square metre. [Answer Limit : 250 words]
4%‘ 2% 1
HIT THITT T ¥ 1 [ZT% 9 ;250 vi=]
35+ 17 2 g
- 2+
%
1 1
A=. D=
Yy ! o
Simplify: 1 e 1 [Answer Limit : 250 words]
S+l 2+
277 |
2 7
2y
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A. B3 CTH MR § 9FER & | A FEFET HUER F 77 HH F9 T T a8 F 10%
IOH % BT § AT F | T T A A HAL: 2 0 3 1 4 ST H AT A | AT A
%1 FoT % 3 T Terd &, df B 9 C %1 e &9 I1eif RT3 ity |

[S=% 9 : 250 3=
A, B and C are partners in a business. A being working partner, receives 10% of
the total profit as salary. The remaining profit is distributed among them in the
ratio 2 : 3 : 4, respectively. If A gets ¥ 3 lac in all, then find the amount received
by B and C. [Answer Limit : 250 words]

Section-2 / @vI-2

Ethics / 3= 91T
TTeh-TITTES J et St ehT i foer=mT it | [ST% 5 250 vr=]
Discuss the role of Ethics in Public Administration. [Answer Limit : 250 words]
I H TRETET o foTE LT % HTGHRT hi WiHhT Sl fole==T SHireg |

[T 9= ;- 250 vi=)
Discuss the role of *Right to Information” for transparency in Governance.
[Answer Limit : 250 words]

oY X U TNE HEIE &S HOH D H SAG ARy & | F ey % e SEl U
AT FEEdT I &, AT [SEed o 1% Sl T § SEl & T I 919 £ |
W@ JTH 1 U5 [Tl 1 5= e [&0d &1 Jur 9 3T 97 % T80 F | 79 Fae
T 2 X' T 39 = 0E 99§ TG % TR 0T 959 99 O | e 999 % AEH-
TS AR O (S TG F S9% URER % SHR 98 T & I9AT) 3THT ' H, 9
Tl AT AT T SO S SIEATHT | T W9 99 AE Y 54T |
e R I | Wqﬁﬁﬂﬂwﬁﬂ‘uﬂ%ﬁﬂﬁmﬁ”

[[ : =9 TN T 569 T 3TegTIHT &1 =1 WIEaT 37 oot |5 ST ST

29
[l : =5 U0 % <Y § &e=m1 SirEw i 27 <X 5 ==7 5497 9180 7
[ST= 9T : 250 =]

Study the following case carefully and answer the questions that follow :
Mr. X" is a veteran teacher who is very popular among his students. He frequently
offers students extra help after school, so it is not uncommon to see students
visiting his classroom after school. He has tutored one student *Swati’ in a variety
of subjects over a two years period. During that time Mr ‘X’ has e-mailed
messages on Swati’s cell phone, using his personal e-mail address. At first, the
messages were very general (e.g. asking Swati, about a sick family member).
Recently, the student began to text her teacher about more personal feelings.
Questions : I :  What possible issues/concerns might this scenario raise ?

I : How can this situation become a violation of the professional

code of conduct for teachers ?
III : Discuss the case “What should Mr *X do ?

[Answer Limit : 250 words]
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